(8)

(b) All great singers are hardworkers.
Some teachers are hardworkers.
~. Some teachers are great singers.

P TR T R AR |
o e 30R ARa® 1
. R P w1

7. Explain universal and existential quantiﬁers.
Symbolize different forms of general
proposition by using quantifiers. 5+5=10

ARE o1 Sy ARNeR &, I =01 AR
9 IR RS PRI ST PR LRI 0
Or / Tl

What is quanhﬁcatmn" Symbohze the following
statements in the notation of predicate logic :

' 2+8=10
AR FF @E? R o$iwr e wore
o RYFSTR 48T oS &Pt 3441

(a) Only dogs are mammals.
T FPICANCIE TR |

(b) Peacock exists.
T IR R |

(c) Either everything is.sweet or everyt.hmg
is bitter.

iﬂvﬁ%ﬂt?@ﬁﬁﬂ%ﬂﬁﬂ*ﬁiﬁlﬁ@ﬁ?ﬂ|
(d) No philosepher is foolish.
TG TefiReeE 9Y 7=y |
* % %

A7—6000/849 3 (Sem~-2) PHL M 1

3 (Sem-2) PHL M 1

2017

PHILOSOPHY
. ( Major )}
'Paper : 2.1
( Logié—n )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions
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1. Answer the following questions as directed :

~ 1x10=10
RCHIRETR w2 Tas o |
(a) State one advantage of using shorter
truth table method.
B 7] iferl afS AR o1 R Towy 701 -

(b) Can formal A.proof of validity be used
in testing the validity or mvahdlty of
arguments?

TRIRT (IS aMT IR (IS W WIS
Rl R I I FRI /1 I 2
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(c)

(@

(e)

(9

2

How many rules are there in the ‘rules of
inference™?

AT P o i 7

The rule of disjunctive syllogism is a rule
of inference/a rule of replacement.

( Choose the correct answer )

ﬁwmmmﬁwwaawmag/
Rew afRreme 3@ |

(Wmmﬁ%ﬁw)

What is the ‘fallacy of exclusive premises’?
‘IFIRT Y TS (T’ R 2

Define the third figure of the syllogxsm
Ciltic] W SRR I T |

How many valid moods are there in all
the four figures of the syllogism?

S SIREGT FRES J50S T 34 S wmem 2

()

A7/849

“A singular proposition is a substitution
instance of a propositional function.”

( State True or False )
“aBl GFF T T TGS TR O 2
%pmgﬁ. |”

( 371 & =prer forat )

( Continued )

0)

(3)

Does propositional function has truth
value?

A TR 9] o0 A ?

How many circles are to be drawn

to represent a traditional proposition
through Venn diagram?

mﬁmwwquﬁwﬁ“eﬁ«
A D1 TS T IR AR ?

2. Answer the following questions in brief :

2x5=10

wmwwﬁm-

(@)

What is demsmn procedure‘? ls ,1nd1rect

~ truth table method a decision procedure?

(b)

(c)

CRIEES ﬂﬁFﬂTﬁ” AETF O SR &S
ﬁ%wa&mmv

What is Modus Tollens (MT)? State its
symbolic form. v
ol 5 (Modus Tollens) R? TR
HSFIE Tl %zm Sal

State the definition of sylloglsm as given
by Aristotle.

| «fR8*5ca frar =R gt Tea) 0 |

A7/849
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(d)

(e)

(4)

State the rules of quantifiers.

e R 3 3, S w1

Symbolize an  universal negative

- proposition-with quantifier.

AT TS 1 A Tt T BT

TrS 2P 31 |

3. Give short answers for the followiné questions

(any foun : Sx4=20
T PP B et o (R ettt v1ReY) -
(@) What is the meaning of the Latin phrase

(®)

A7/849

Reductio ad absurdum’? State why
shorter truth table method is called the
method of ‘Reductio ad absurdum’. What
does the contradiction involved in a
shorter truth table method imply? 2+2+1=5

o AN ‘Reductio ad absurdum’3 &g
7 of o oo T R ormfS Aew
S’ o W T ? 7Y T TR e el
= Ry 7 spm, foran

What is instantiation? Describe how to
symbolize a singular proposition. 2+3=5
EE T T QAT 9B RS
R AT TS 4PN FRT 1R, It

B2 1N

( Continued )

A7/849

(I

(c) State the differences between propositional
logic and predicate logic.

WW@WWWWWW
‘«‘I?FI"IIWWWI

(d) “Formal proof of validity cannot proof the
invalidity of an argument.” Explain the
statement with the help of an example.

“oPIRT (Y@ NI @Ol ISR WIHS A
+RT FIRIE 17 <GB ST TR ﬁqf’zﬁ BiiEi!
¥q1-

(e) Write anote on utility pf predicate logic.
Reae SEREFR SRl T < R
fart 1

() Describe the structure of standard form
of categorical syllogism with a suitable
example' ‘

RE TR e b SFRerere, RacrE
T SR A5 T 9

What is indirect truth table method? Why is it
called 4ndirect’ truth table method? Explain
the procedure of constructing an indirect -

truth table with an example. 2+2+6=10

ArE el SRRl TS I @7 € R
oars’ 7o) oRR oae P R R - 9b
TR S AT O ST Rfy No-2ifdm
T T |

( Turm Over )



(6)

'O’r’/m‘

Symbolize the followmg arguments and
‘construct shorter truth table to determine
their validity or invalidity :

Tﬁm{%ﬂmm@wmwws{

mwﬁw*@waﬁﬁmﬁﬂh«mwwﬁw
g

(a) If Rubi is at least 18 years of age, then
Rubi can vote in the election.
Rubi is at least 18 years of age.
~. Rubi can vote in the election.

Tt ¥ 7T T@O: Sv IW T, (SR FA
fvTe cobm R 1R |

FIN T TS S I |

. AT T coinm IRT “Nfkq |

(b) Radha can think if and only if, she is
conscious.
Radha is conscious.’
Radha can think.

T4 foar 37 1T 3 e ez coda e
UMW |

4R (G SR |

- 14 fod1 3T =R |

5. Explain the strategies for constructing formal
proof of validity with suitable example.

e TR IS WIFIRE (AU 4R P
T 4 |

10

10

A7/849 ( Continued )

(7)

Or / M1
Construct the formal proof of validity for the .
following arguments : _ 5+5=10
R YR SRS (I A srémw
i) 1. x>(yo2
2. x>(ADB)
3. x-(yvA)
4.~z /. B
(M 1.J-(K-L)
2. (K-J)>[Mv(NvO)]
3. ~M-(~P-~0)/~ N

. What is a categorical syllogism? Explain the

chief features of categorical syllogism. 4+6=10

 feere U S I Qe ? FRerE I S

Y THETR I 91 |
Or / %1
Test the following syllogistic arguments with
the help of Venn diagram : . . 5+5=10

(o7 Bam w9 TS A AW SEEAEDOR e
[ 90 :
(a) All Russians are revolutionists.

All Marxists are revolutionists.
~. All Marxists are Russians.

s A R
e Wi Re®
. S5 R AT |

A7/849 { Turn Over)
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1. Answer the following as directed : 1%x10=10
Tt SRt SoRERT T fi

(a) Mention the realist principle of test of
truth. '

|
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(2)

(p) Name an idealist thinker who
suggests that coherence implies
comprehensiveness or all-inclusive.

e SRR v i o Ry aifsams
AR FReifS & iR |

(c) John Dewey considers ____ to be the
test of truth.
o N e — o ol e
ol |
( Fill in the blank )
(R 3 7 70 )

(d) What is the relation between space
and material objects, .according to
naive realism?

e BRI WS O IF WIS M
ers o 5 2

(e) Mention one characteristic of time.

Jle b1 AT Sae +10

() According to Locke, we can/cannot
perceive a substance in the external
world.

P WO W IART woree ¥y g IR
AR/ IR | ‘
( Choose the correct answer )

( o7 Teschl A Tfea )

A7/ SSQ ' ( Continued )

(3)

(g) How . does commonsense believe
causality as a category of knowledge?

s 235l RBpieet IRrel SR s [ 3fe
e A2

(h) What is freedom of will?
=i Tl e 2

() Name two philosophers who have
supported logical positivism. -
7o P o WS A o |

() Which theory of meaning is
associated with elimination of

metaphysics?
SRR AT TS @I WS TG WS €2
R ? | '
. Answer the followmg questlons very
briefly : o 2x5=10
i zmq@ 5 ey fra -

(a) Write two charactéristics ;)f the
correspondence theory of truth.

AR G 151 ¢y forar o

(b) What is the idea of space accordmg
to Kant?

IO WS (PR 49 2

A7/850 " (Turn Over)



(c)

(@)

(e)

(4)

How does Descartes explain the
category of substance?

COIIH (I G LT it R ?

Write two arguments in support of
determinism.

qreere T o1 cafiEs forn o

Mention two disﬁncﬁons between
strong  verification and weak
verification.

WW’HWWW’W@’H’WK
w9

. Answer any four of the following

questions :

wm{aﬁ@msﬁmmﬁm

(a)

(b)

A7/850

Explain briefly the pragmatic theory
of truth. :

oyl AP w Rt Bocfierm
GOl TR T A |

How objective idealism is associated

with coherence theory of truth?

T[TC ORM REWE TRIRRM T 7Asre
e ?

( Continued )

5%4=20

(5)

(c) Write five characteristics of
conceptual space.

YRS ¢ SA1o6! ¢S Borr 1

(d) Explain briefly Aristotle’s theory of
causation.

RB oo FRTOR™ ©F ST I 3] |

(e) How does A. J. Ayer explain empirical
proposition? . '

Q. (. SR AR SSCEOAF 67 I
FRR?

() Explain briefly two arguments offered
by the indeterminist thinkers in
support of their view.

AR (SRR TS Tl o1 IR
YT M A

v4. Define time. How does realism explain
time? 4+6=10

R e Rl | IBRWRC R IR Ry
[ FRE?

A7/850 ' ( Turn Over )



(6)

Or / 7%t
Define substance. How does Leibnitz
explain substance? 4+6=10

Wﬁ"@rﬁmﬁzﬁmmmﬁm
I IR ?

Explain critically Hume’s view on
causality. 5+5=10
BN :

Or/ N

Explain critically A. J. Ayer’s view on
elimination of metaphysics. 10
9. (& WA - SRRW I TR/mON
FANCAGAAF A7 |

Explain the different arguments put
forward in favour of freedom of will. 10

TR TATOR CF SRR Ridw 1w
BISHE Sl '
Or / %1

Explain critically the nature of space
according to the idealistic thinkers.
SIRf BIRRE FCS (P 4RET STICATAT
I IRI F4 |

A7/850 S ( Continued )

A7—6000/850

(7))

7. Explain critically the psychological

argument in support of determinism. 10
fafearm mdte ST IS ST
I IR 1 |

Or / 7T

Explain critically the metaphysical
argument in support of determinism.

ﬁa%nmwmwﬁﬁww@m
©ICT I AT

* kK
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